GRADE 8 SAMPLE ITEMS

1. Place Value - MC

Which number is equal to 3.02 x 10*?

©) 0.000302
©) 0.0302
O] 30,200
©) 3,020,000

3. Equivalent Fractions, Decimals and Percents - MC

At a school bake sale, % of the number of pies sold were apple pies. Which percent is

equal to % ?

©) 10%
©) 20%
O] 40%
©) 60%

3. Equivalent Fractions, Decimals and Percents - OE

S-1 Shade in 2.18 of the place-value blocks.

Key: O = .01
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4. Order, Magnitude and Rounding of Numbers - MC

Wendal and his 3 friends compared the
weights of their backpacks. The group
borrowed a scale from their homeroom
teacher and measured the weight of the
4 backpacks. The table below shows the
results of their measurements.

Backpack Weights
Owner . Welght
(in pounds)

Wendal ‘[7%
. 5
Jamie 1742
3

Raul 171
9

Mandy 17@

Who had the heaviest backpack?
Wendal
Jamie

Raul
Mandy

ONONOX®)

4. Order, Magnitude and Rounding of Numbers - OE

S-2 On the ruler below, mark an X at the point. where 5.9 cm would be.

|ll||(l|l||,l||||||
2 3 4 5 6 7 8 9 10

cm
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5. Models for Operations - MC

A farmer had 15.9 pounds of feed to give

to her cows. She had 4 feeding bins she used
to feed the cows. If she separated the feed
evenly into the 4 bins, which number sentence
could be used to determine the amount in one

bin, b?

O 159x4=5b
® 159+4=0b
O 15.9-4=b
O 159+4=0b

5. Models for Operations - OE

S-3 Write a story problem that can be solved using the number sentence

S3A Write a story problem that can be solved using the number sentence
3x83=0.

Jdnn 4 R B ad Brian oleccded f©  combine
o\ their T Money do gok oo gL Go
th ?mn\‘s, TeY ench fefson U hd 98 59,
hod  Mueh Money  woald ﬂtua{ howe offer
c;zmb;'ﬂfo; ot 2 /

S3B Write a story problem that can be solved using the number sentence
3x83=0.

Mnl’;fﬁa had — dheee plastic _confainces  iath o
'3 16 mweces of  chacslnte MmWe \n garh. Hm A_MAng
pleces  of pave ders Malina e altsgeprer?

J
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S31 Write a story problem that can be solved using the number sentence

3x83=0.

Theee Daos ek &gt poiat
| Pheee ottt Dot and ey al
\"\_\)(_\%-()U‘i‘ |

7. Computation with Whole Numbers and Decimals - GR

5,006.2 —2,904.88 =
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8. Computation with Fractions - MC

21412 =
6 5
o 32
30
o 38
30
o 3~
30
o 3t
11

9. Solve Word Problems - MC

Jerry had 3% cups of mozzarella cheese and
2% cups of cheddar cheese to put on 3 pizzas.
He also added ’I—;— cups of Parmesan cheese to
the pizzas. In all, how many cups of cheese

did he put on the pizzas?

@) 10’% cups
® 7% cups
@) 7% cups
O 6% cups
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9. Solve Word Problems - GR

Kwan went shopping for new clothes. He bought 2 shirts for $18.95 each and 3 pairs of
shorts for $15.50 each. If he gave the cashier $100, how much change should he get

back?

9. Solve Word Problems - OE

Female gray squirrels generally live longer than male gray squirrels. The table below shows

> the life spans of 6 squirrels that were part of a study.
Female Life Male Life
Squirrels Span Squirrels Span
Daphne 11.3 years Boomer 8.4 years
Kiwi 9.7 years Chipper 9.2 years '
Peanut 10.5 years Rocket 7.9 years

According to the table, what was the difference, in years, of the average life span of a female

gray squirrel and a male gray squirrel?

Show your work or explain how you found your answer.
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S1I Female gray squirrels generally live longer than male gray squirrels. The table below shows
the life spans of 6 squirrels that were part of a study.

‘|-~ Female . * Life Male . -Life

ooio|.--Squirrels. | - Span - | Squirrels. Span .
~ " Daphne 11.3years *| ~ Boomer | = 8.4years
e Kiwi..._ ;i 9.7 years ~ Chipper - 9.2 years

|- Peanut . ‘| ~10.5vyears Rocket: - | 7.9 year.s.

o .ﬁé_éofdih_‘g to the table, what was the difference, in years, of the average life span of a female
- ‘gray squirrel-and a male gray squirrel? Zoq : - ' : 0

Show your work or explain how you found your answer.

' 1.2
o, 2

T slbteet— The Fople  lifsmn B
¥ el | = |

11. Estimating Solutions to Problems - OE

A stadium can hold 108,400 people. It was about % full of people for the last football game of

the season.

What is a good estimate of the number of people who attended the last game?

Explain how you made your estimate.
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12. Ratios and Proportions - MC

The ratio of pitchers to catchers at a baseball camp was 11:4. If there were 64 catchers,
how many pitchers were at the camp?

44

64
176
256

(ONONOX®)

12. Ratios and Proportions - OE

8-2  An Italian chef made 8 plates of spaghetti l’o.r every 3 plates of lasagna.
If she made 78 plates of lasagna, how many plates of spaghetti and lasagna did she make
altogether?

Show your work or explain how you found your answer.

S2A An Ttalian chef made 8 plates of spaghetti for every 3 plates of lasagna.
If she made 78 plates of lasagna, how many plates of spaghetti and lasagna did she make -

altogether? HBQ S

Show your work or explain how you found your answer.

5O% ¥ T ARG

T CRUICE) XS RHC DY YR o OOKEN 10 2 ssnad ob

RO T oo IO ) o ) SO 10 O TrCAIOSCONT ol

dﬁjggc@ﬂ e 38 O \OSOL ONED A0 el T 6 ey at
O R
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13. Computation with Percents - GR

What is 76% of 56?

15. Approximating Measures - MC

The large square below is the base of a container. The small square is the base of a block.

Container
Block

Pablo filled the container evenly to the top with blocks stacked 4 high. Which is the best
approximation for the number of blocks needed to fill the container evenly?

9
16
36
64

ONONOX®)
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16. Customary and Metric Measures - OE

S-3 Phil made sand art decorations. He had a rectangular container that he filled 3 way full of
sand. The picture shows the dimensions of the container.

14 inches

8 inches

23 inches
What is the volume of the space that Phil filled with sand?

Show your work or explain how you found your answer.

S3A Phil made sand art decorations. He had a rectangular container that he filled + 7 way fu]l of"
sand. The picture shows the dimensions of the container. ; e |

14 inches

8 inches

L 1
T 1

23 inches _ )
What is the volume of the space that Phil filled with sand? _Laisjﬂ-s ;

Show your work or explain how you found your answer.

TThe Romgles S \olowe 18 Lt wifh. (as:f gy 1)

: X 576 ln . Since e

bnlu Billea T b cndinas P aween ooy 5 4 L.+
\3.‘8‘6 1a3
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16. Customary and Metric Measures - MC

Eli’s car weighs 3,350 pounds. How many tons does the car weigh?
O 0.1675

0.675

1.675

16.75

O ® O

17. Geometric Shapes and Properties - MC

The picture below shows two flagpoles.

~
- -

These flagpoles appear to create what kind
of lines?

Parallel
Perpendicular
Intersecting
Obtuse

OXONOXO,
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18. Spatial Relationships - OE

8-7 Barry traced the outline of two different floor tiles. The pictures below show his outlines.

Do the tiles appear to be similar?

Explain how you could tell for sure whether or not they are similar.

S7A Barry traced the outline of two different floor tiles. The pictures below show his outlines.

Do the tiles appear to be similar?_No

Explain how you could tell for sure whether or not they are similar.

Thew o nek Swnilac because ey acervk e Same Shage . One

fhog 20° Qng}\&ﬂ and ~He ather doesrd. ITF Hoo Shapes are suvidar

Fd

dne shape 1s e same bt e size s difReeng.
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18. Spatial Relationships - MC

What view of the barrels is seen by the person in the picture?
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19. Tables, Graphs and Charts - MC

This graph shows the winning percentage
during the 2000 Major League Baseball
regular season of the Eastern Division of
the American League.

Eastern Division Winning Percentage

% of Games Won

The Chicago White Sox, in the Central
Division, had a winning percentage of 59%.
About how much greater was their winning
percentage than the percentage of the Boston
Red Sox?

O 2%
® 6%
O 13%
O 16%
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19. Tables, Graphs and Charts - OE

The table shows the number of years ago several kinds of clothing were first worn.

Early Kinds of Clothing

T
Belts and Trousers 30,000
Knitted Skirts 20,000
Cotton 6,500
Silk 5,000
Buttoned Garments 13,000

Complete a bar graph to show the same information.

S8A The table shows the number of years ago several kinds of clothing were first worn.

Early Kinds of Clothing
ot [ Ve
Belts and Trousers 30,000
Knitted Skirts 20,000
Cotton 6,500
Silk 5,000
Buttoned Garments 13,000

Complete a bar graph to show the same information,
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20. Statistics and Data Analysis - OE

S-4 The graph shows six planets and the number of miles each planet is from the Sun.
Planets’ Average Distance From Sun
1000
900
800
700
600
500
400
300
200

100
0 —

Miles (in millions)

Planet

Michelle claims that Jupiter is about 3.4 times farther than Mars is from the Sun.

Based on the graph, is Michelle’s claim reasonable? Write an explanation to show why
you agree or why you do not agree with Michelle’s claim.

S4A The graph shows six planets and the number of miles each planet is from the Sun.
Planets’ Average Distance From Sun
1000 : : : =
900 :

Miles (in millions)

@ g & 2
Q‘b ‘!? i >¢é{‘ Qé'o
B I
Planet

Michelle claims that Jupiter is about 3.4 times farther than Mars is from the Sun.

Based on the graph, is Michelle’s claim reasonable? Write ‘an explanation to show why
you agree or why you do not agree with Michelle’s claim. .

\{ﬂ- NA ats 18 n\_lzg"- . 1‘§ofm'llim wtles avey .
Molbigly  ShbSPE fan it gt SAD.
—Tul‘bla,d',; {ooks pbodk 400, sp lhes h’.gl‘m&h_m 3
ask ‘ol ]
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20. Statistics and Data Analysis - GR

Louis works at a supermarket. His earnings from his last four paychecks are shown
below.

$187.53 $168.76
$205.64 $252.71

What is the mean of Louis’ earnings from these four paychecks?

21. Probability - MC

The spinners below are each divided into 4 equal sections

If each spinner is spun once, what is the probability that the arrows will both land on A?
2

O 16
2

4

O
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21. Probability - OE

S-4 Bob was playing a game with his best friend, Jose. Jose would toss 2 coins at the same time.
Jose would get a point each time the coins came up with one heads and one tails. Bob would
get a point each time the coins came up either both heads or both tails.

Is this game fair?

Explain why or why not using the outcomes of tossing 2 coins.

S4A Bob was playing a'game with his best friend, Jose. Jose would toss 2 coins at the same time.
Jose would get a point each time the coins came up with one heads and one tails. Bob wuuld
) geta pomt each time the coins came np either both heads or both talls

Is this game fair? _\lgja._

Explam why or why not using the outcomes of tossing 2 coins.

.\(u. I 3&\\\\'\\‘ ‘\f\\g_ 'uh &mmg l& Laie \Jecau.'aa :
s o Soh dere Wb He cios lilod o 2
I\ heogsiond ™ L deds cr lxM« \\eads ol lao.lh

S4B Bob was playmg a game wlth hls best fncnd Jose. Jose would toss 2 coins at the same time.
Jose. would get a point each time the coins came up with one heads and oné tails, Bob would
‘geta pmnt each t:me the coins came up either both hcads or both tails.

s this game fair? _ <% -

Explain why or why not using the outcomes.of tossing 2 coins.

j’, tie h eq d-s o 'hv; i ls ',7' 2

J'wo 15#__&5_“1_;4“
i‘\c )u‘-;C: seAs ) km(.(»s D ({..gg;b. ] }_*\-Is [Lg
'T;A lq \UO\J;/ y cr( wnmnﬂ
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S41 Bob was playmg a game w:th his best friend, Jose. Jose would toss 2 coins at the same hme _
-Jose would get a-point each time the_coins came up with one heads and one tails. Bob would: |
-geta pomt each'time the coins came up either both heads or both laﬂs :

Is this game fau‘? 2 1 () LR

= Explam why or why not usmg the outcomes of tossmg 2 coins.

'--%mns Pm\o \/\aﬁ a_ mur‘.x n:ea\w r}\;\m’\ﬁt eﬂ-\.

Y Q\M\\ ﬁQf"

22. Patterns - MC

The numbers below follow a pattern.
12,24,48,96, _ , __ ,_ ,__,__, 2

What is the 10th term in the pattern?

® 6144
O 5744

O 3072
O 192
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22. Patterns - OE

S-3 These numbers follow a pattern.

610, 510, 420, __? ? ,210, 160

4

Which numbers are missing?

Explain why you think they are the missing numbers.

.é3 A . These numbers follow a pattern.

610, 510, 420, _? 2, 210, 160

Which numbers are missing? BﬂQ_ 210

e B'xplaiﬁ' why .you_.think- they are the missing numbers.

I .
S3B These numbers follow a pattern.

610,510,420, _2? ,_? , 210, 160

‘Which numbers are missing?. %TO, 270

Explain why you think tﬁey are the missing numbers.

Bl joo-5o 50907420 9-56-240  3%.76°00 2
270-60: 20 jo-mn=140
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§3y These numbers follow a pattern.

610,510,420, .2 ,_? ,210,160

" “Which numbers.are missing? /0, 320

. Explain why you think they are the missing numbers.

e,

e w'(}z/' 6:/ e

23. Algebraic Concepts - GR

What is the value of x in this equation?
2x—4.01=17.13
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23. Algebraic Concepts - OE

S-6 Jenny has a collection of baseball and football cards. For every 5 baseball cards in the
collection, there are 2 football cards.

If Jenny has a total of 133 cards in her collection, how many baseball cards does
she have?

Show how you could use the table below to solve the problem.

Baseball Football Total

5 2 7

56 A Ienny Jms a-collection of baseball and footballicards, For e.verx 5 baseball ca:ds in the } |
coﬂecnon, there: are '2football cards o i _ S . ,.

E‘Jenny has a total of 133 cards m.he:r collecuon, how many baaeball. cards does'
she have?

Sﬂow_r how you could use the:table below to solve the problem..

‘Baseball | - Football - Total - ||
i 5 iy Loy s
I Lg% & ik i
205 ‘g | 2Y

NG B )56
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23. Algebraic Concepts - MC

Wendy was a painter. She paid $14.00 for
each gallon of paint she bought. She also
bought a new brush for $4.99. If x represents
the number of gallons of paint she bought,
which expression shows the amount of money
she spent on paint and the brush?

14 — 4.99x
14x — 4.99
14 + 4.99x
14x + 4.99

ONOXOX®)

24. Classification and Logical Reasoning - MC

The following are clues to Carmen’s age.

» Itis an odd number greater than 10 but
less than 22.

* [t is not a prime number.

» It is not divisible by 5.

What is Carmen’s age?

O 15
O 17
® 21
O 23
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24. Classification and Logical Reasoning - OE

S-5 Use the Venn diagram to help you sort shapes.

Regular More than 4 Lines
Polygons Of Symmetry

Write the letter of each shape below into the appropriate set in the Venn diagram.

O A ]

. S5A Use the Venn diagram to help you sort shapes.

c p

Regular More than 4 Lines
Polygons Of Symmetry

Write the letter of each shape below into the appropriate set in the Venn diagram,

W A
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25. Mathematical Applications

E-1 The Bushnell Park Carousel in Hartford opens in early May and runs through October from
11 A.M. to 5 P.M. One cycle of the carousel consists of 3 stages: loading people, the actual
ride, and unloading people. It takes about 8 minutes to complete one cycle. The actual ride
on the carousel takes 3% minutes.

If the carousel rotates 4 times per minute, how many rotations could it make from

11 A.M. to 5 P.M.7

Show your work or explain how you found your answer.

E1A The Bushnell Park Carousel in Hartford opens in early May and runs through October from
11 A.M. to 5 P.M. One cycle of the carousel consists of 3 stages: loading people, the actual e
ride, and unloading people It takes about 8 minutes to complete one cycle. The actual nde s
on the carousel takes 3— minutes.

If the carousel rotates 4 times per minute, how many rotations could it make from

Mamwosem? &30

Show your work or explain how you found your answer.

q fo‘i‘ﬁ;“m“s !"V‘""“it- % 3 mlﬂtti‘:& o L’ f“l"(“m'r/g Y m.—‘n-:c'lfi_

E0mis T Frias per afe = 1.5 ﬂvbfn/‘w_ :
14 ru‘){m{.‘v-s.t /c,(a: X 7.5 aofr: /Au&-r’ = ’05 r‘m(o-lfnr.r/ﬂ\ oy v '_

430 r\m/a .oﬂ.r

in € Lawrs

0E N\lol-'ﬂ*u‘/{nur X C hour 5 =
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